SET UP LF ENTER

F— Sg 4 RIL A0\ =
S ESREMKA RN 98/02
S2-412PA #: 1k 3R, B8
FRE & R $10 - p— O AZ Auto Zero 15 7 &
BB $2.0 PV CI ) | Ovp. —— DpataHold 45 7
*PLIEETE — 830 1 0 1
ELETES s4 0O - -t -
*35 $2-412PA-44 % f A @ @ @ @
T

AZ
% 52 3 A
4 o R [ BT ] =X LA LR S

1.@ @ Auto Zeroz & K EH -

2.[E)] @ mshek -
3.(S)>)Jo Az
wgl e k]
1.(2]
2.(s)
3.(E]

N & RE &
#EH X oA

I ESAREEK

o

RE AT o

1.[8) 2#amek -
2.(S) ARz -

AEEESESE A E20)

e bt o fe [ B & T
1.[>) # st -
AINES LR

3. (E] #pa stk 2 iR @ &l %) A

%k o

¥ D) YA KRPHAED F% A Y o AutoZero B & 3e g -

@ T’ E SEL. > H5Y5_ 3

2N

@ EPASSHAARE OB ZMAES -

EPASSHEAR OBF ok -

X o) fE & A
GEE . BB X -
HYS BB MAEXE -
di 5P BTEAERE -
FYHL Hi % Logh1E % &
dJELY _ MEE R ZE o
ELSE . Hibx g o
4gs RS485 (% B #4853 4t 4+ #8

) o

Bk o e &
B4 B Jo

oL

N |

Y|

BAFEE R T BEHR T
SEE. — HYS
SEE ! adbAnd HYS !
$—% (8 X 15 % (s) $—5 (s
-19999~19999 0~9999 -19999~19999
) )E)| |@Ele) B)E ZEANIDIE
= (2] = (2] = (2]
SEE 2 FPRSS HY5 2
$=—8 (s BERE () g5 (s
-19999~19999 0~9999 -19999~19999
2EC)E |[xEBl D) E % 14 (2) ) (E)
= (4 = [4)
SEr 3 © HYS5 3 ©@
=8 (s =5 (s
-19999~19999 -19999~19999
% 1 (&) B (E) % 18 (2] (>] (E]
= (2 = [2)
56c 4 © HyS 4 ©
$wmi (s Pmex (S
-19999~19999 -19999~19999
% & (a) ) (E) % ) ) (E]

= (&

x @ 412PA-4 4 B8



X T AR

¥ EBE T | T B AHPASS X ADOOD
v Al R %%A}\)‘ ]
+
3 N
N 8% % #1000
0068 awﬁ
Y ¢ !
AEBE % & B R
SEE. —— (A }——HYS
@@@ d ol
v %
SEE ! FPASS HYS |
$—% (8| |msmax (g -5 (s
-19999~19999 0~9999 -19999~19999
%) ) (E)] (%@l >])(E % 18 (2a) (&) (E]
= (2] = (4]
SEE HYS 2
-8 (§ -8 (g
-19999~19999 -19999~19999
% 14 (2] (] (E) % 1 (o) ] (E)
= (4] = (2]
et 3 © HYS5 3 ©@
r=8% (s =5 (s
-19999~19999 -19999~19999
% 14 (8] () (E) % 14 (a) (&) (E)
= (2] = (4]
SEE 4 © HY5 4 ©
$wmik (s $me (S
-19999~19999 -19999~19999
% 14 (2] (] (E) 1 (o) ] (E)
& @ * Hi Set
28~ >=Setx fv Setx - Hysx ) 1F
D’bF,’,—,d 28~ 14 < Setxfu Setx-Hysx &~ #
as ?j/:;gg @ *,If?:;::?:e{tﬁ < Setx fu Setx + Hysx &) 1
28~ 1 >= Setx fu Setx + Hysx R #) 1f
% & (2] ) (E)

e RE

@_’D 1510

{ e eE

o’F’H '

BT &1 ()

-19999~19999

% 14 (a) ) (E)

- (2]

dPlo

B o &4 (S)

-19999~19999

#(a) ) (E)

= (4]

dot

S #E (S)

0.0.0.0.0.

# 14 (a) ) (E)

- (2]

dFPARdJ

oA ()

0~199.99 %

#(a) ) (E)

~(2k

3 @ 412PA-44 8

X @ % ARS4857) fie £ B

EER R

rYHL .

{ OB

HL bEL

HLzz 2 (S)

LLHH

ZANI]E]

*EANE =
#8714 xdPHRJJ 1100

CRAEGHE &
* 412PA-28% %LH

1B R R

—(A)>{dEL Y.

Br

=

%= 5

(8]

HE% =

—»(A)ELSE

-

UﬁdE:’

&AL 3 31 (S)

n~y

zAN|]E]

- (2]

Aub

3% # (8]

1~59

# (2] () (E)

= (4]

out r

$Hditd (s

n~y

% fa(a) () (E]

- (2]

PLALT

AZ#:42  (S)

n~y

(2] () (E)

= (2]

ou FL

i 4% P9 ()

n~y

(2] () (E)

®

4853% &

(A} 485

QB

uo’or

4 4k 3% . (S)

1~255

% fa(a) &) [E]

- (2]

bAud

% & (]

1200~384_

#1(a) ) (E]

= (4

FrAE

*Ei)a—\n.rh @

n.8.2~n.8.1

% (2] ) (E]

- (2]

CRSE

# XX (8]

HL~L_H

#1(a) ) (E]




	頁面  1
	頁面  2



